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	Area of triangle APC is ½ AC x PT
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	Area of triangle APB is ½ AB x PR 
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	Area of triangle BPC is ½ BC x PS
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	Construct the perpendicular lines from P to AB, BC and AC. Mark the intersections R, S and T.
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	Draw in the lines PA, PB and PC.
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	Take an equilateral triangle ABC and choose any point P inside it.
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	ABC is an equilateral triangle, so all its sides are the same length, which we can call m.

AB = BC = AC = m
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	The area of the triangle is the same wherever P is positioned, so PR+PS+PT must always be the same.


	

	Total area of triangle ABC = 

½m x PR+ ½m x PS+ ½m x PT

=½m (PR + PS + PT) 
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